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L. Multiple Choice : 8x1=8
The war that ended with the treaty of Salbai was
(A) Second Anglo-Maratha War
(B) Second Anglo-Sikh War
(C) First Anglo-Maratha War
(D) First Anglo-Mysore War.
Ans. :
(C) — First Anglo-Maratha War 1
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In 1938, The President of Haripur Congress Session was
(A) Sardar Vallabhbhai Patel (B) Dr. B. R. Ambedkar
(C) Bal Gangadhar Tilak (D) Subhash Chandra Bose.

Ans.
(D) — Subhash Chandra Bose 1
The main objective of the French Revolution of 1789 was the
(A) establishment of U.N.O
(B) protection of Human Rights
(C) prevention of Foreign Invasion
(D) establishment of League of Nations.

Ans. :
(B) — protection of Human Rights 1
Narmada Bachao Andolan was led by
(A) Medha Patekar (B) Dr. Shivaram Karanth
(C) Kusuma Soraba (D) Sundarlal Bahuguna.

Ans. :
(A) — Medha Patkar 1
The telephone number of child helpline is
(A) 1098 (B) 1090
(C) 1089 (D) 1097.

Ans. :
(A) — 1098 1
The correct pair among the following is
(A) Andhis — West Bengal (B) Kalbaisakhi — Punjab
(C) Mango shower — Tamil Nadu (D) Coffee Blossom — Karnataka.

Ans. :
(D) — Coffee Blossom — Karnataka 1
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7.| Human Development Index of India in 2014 was

(A) 0586 (B) 0-344
(C) 0562 (D) 0-856.

Ans. :

(A) — 0-586 1

8. | The Father of the White Revolution is

(A) Dr. Pratap Reddy (B) Narayana Murthy
(C) Varghese Kurien (D) Azim Premji.
Ans. :
(C) — Varghese Kurien 1
II. Answer the following questions in a sentence each : 8x1=8

9.| Hyderabad Province had to keep a British contingent in its province

after 1798. Why ?

Ans. :
Nizam of Hyderabad had signed subsidiary Alliance 1
10.| Why was Ramakrishna Mission ( Muth ) founded ?
Ans. :

To carry the messages and thoughts of Ramakrisna Paramahamsa 1

11.| What is the main objective of Food and Agricultural Organisation
(FAO) ?

Ans. :

To fight against poverty Malnutrition and hunger all over the world. 1
12. | Why was a protest organised against Kaiga Nuclear Power Plant ?

Ans. :

Nuclear radiation would lead to deforestation, environmental pollution

and spoil numerous species in the ecosystem. 1
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13. How is Laterite soil formed ?

Ans. :
Tropical areas under the conditions of high temperature and rainfall 1

14. | Define Density of Population.

Ans. :
The number of people per sq. km is called density of population 1

15.| How is per capita Income of a country calculated ?
Ans. :

Total national income is divided by total population in a given year 1
16. | Why is March 15th of every year observed as World Consumer Rights
Day ?

Ans. :

On that day, John F. Kennedy gave the American Consumer four basic
rights. 1
II1. Answer the following questions in two sentences and four points each :
8x2=16
17.| What factors made the Europeans to discover a new sea route to
India ?

Ans. :

— Ottoman Turks captured constantinople

— Spain and Portugal were attempting to break the monopoly of

Italian traders

— Kings started encouraging enterprising sailors to find a new sea

route to India

— New Scientific inventions. 2
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18.

19.

Refugees have become a huge problem since the partition of India.

Substantiate.

6 million refugees came to India in 1947

Lakhs of refugees came to India between 1947 and 1971

10 lakh refugees came to India as a result of Bangla Vimochana
Movement in 1971

Tibetians had arrived to India as refugees during Nehru’s time

1 lakh 20 thousand Tibetian refugees are in India

Major famines destroyed Indian Financial Security still India

showed humanitarian concern. ( Any four points) 4 x %

Many issues have influenced our changing foreign policy. How ?

OR

Why is Security Council considered as the Cabinet of UNO ?

National interests
Military issues

Public opinion
International situation
Political situations

Geographical interests

N~

Economic interest. ( Any four points) 4 x

OR

Strives to solve global problems peacefully

Deploys UN peace keeping force

Selects the Judges of International Court of Justice
Maintains peace and order

Suggests the nomination of Secretary General for UNO.

N+~

( Any four points ) 4 x
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20. | Child trafficking affects the holistic development of children. How ?
OR

Division of Labour is more useful. How ?

Ans. :

— Exposed to physical and sexual exploitation

— Infected with sexually transmitted diseases

— Undergo unwanted pregnancy

— Abortions

— Drug addictions and murders

N~
N

— Forced pregnancies. ( Any four points ) 4 x

OR

— Helps to gain skill, deep knowledge and training
— Class system is emerged

— Emergence of business and Industrialization

— Helps to invest more and earn more profit

— Leads to specialization

1

— Helps to get more profit. ( Any four points ) 4 x 5 o

21.| How are the Eastern Coastal plains different from Western Coastal

plains of India ?

Ans. :
Eastern Coastal Plains Western Coastal Plains

— River Suvarnarekha to | — Rann of Kutch to
Kanyakumari Kanyakumari

— Between Eastern Ghats and | — between Western Ghats and
Bay of Bengal Arabian Sea

— Broader — narrow

— Northern Circar and | — Konkan, Karnataka and
Coromandal Coast Malabar coast

— Deltas are present — Deltas are absent.

( Any two points from each ) 2
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22.

23.

24.

Iv.
25.

Classify the following wunder personal communication of Mass

Communication and then write them :
Post ( letter ), Television, Fax, Radio

Ans. :

Personal Communication Mass Communication

— Post ( Letter ) — Television

— Fax — Radio

1

4><§

The goals of Public Expenditure lead to an all-round development of the

country. Substantiate.

Ans. :

— Economic development

— Promote Industry, trade and commerce
— Agricultural and rural development

— Balanced regional growth

— Build socio-economic overheads

— Promote full-employment

— Maximize Social Welfare. ( Any four points ) 4 x

N~

Name the different types of Bank Accounts.

Ans. :

— Savings Bank Account

— Current Account

— Recurring Deposit Account

— Term or Fixed Deposit Account.

Answer the following questions in six sentences each : 9x3=27
British Revenue system affected Indian Agriculture. Substantiate.
Ans. :

— A new class of Zamindars was created

— The farmers became landless slowly

RR (A)-1106 % (MA) [ Turn over
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— Land became a commodity

— Many Zamindars had to mortgage their lands

— Agriculture sector became commercialized

— Money lenders became strong

— Farmers and Agricultural labourers did not get regular works
— Farmers were born in debt, lived in debt and died in debt

— Tax was paid more than they produce in farms

— Had to pay tax even during droughts and floods.

( Any six points ) 6 x % 3

26. | Third and Fourth Anglo-Mysore wars reduced the strength of Tippu
Sultan of Mysore. Justify.

OR
The contribution of Annie Besant to Indian Culture and Politics is
unforgetable. Justify.

Ans. :

— Cornwallis destroyed Bengaluru Fort

— The alliance of British destroyed the fort of Srirangapattan during
night

— Tippu Sultan signed treaty of Srirangapattan which had
unfavourable conditions

— He was forced to part with half of his kingdom

— He was forced to pay 3 crore rupees as war damage fee

— He had to pledge two of his sons as a guarantee against the

payment
— He was forced to release war prisoners
— He opposed Subsidiary Alliance

— The united army of British attacked Srirangapatna and destroyed

fort once again

— British killed Tippu Sultan in 1799.

( Any six points ) 6 x

N~
w

OR
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27.

— Annie Besant had knowledge of Vedanta philosophy

— She advocated the Indian culture is more superior

— She started reformation movement of Hinduism

— She did a comparative study of Hinduism and Buddhism

— She translated Bagavath Geetha to English

— She was called Shwetha Saraswati

— She started Central Hindu College to provide education for all
— She started New India and Commonweal periodicals

— She started Home Rule League Movement

— She was active in the Freedom struggle

— She became first Women President of Indian National Congress.

( Any six points ) 6 x 1

How did China develop during 20th Century ?

Ans. :

— Anti-imperialistic democratic revolution by San-Yat-Sen
— Farmers and workers movement

— Mao Tse-Tung started ‘Long March’

— Land reforms provided land for all

— Mao Tse-Tung established People’s Republic

— Community Farming was introduced

— Free health and education facilities

— Importance was given to Science and Technology

— Leap Forward Programme

— The private property was converted into public property

— The cultural revolution took place. ( Any six points ) 6 x %

RR (A)-1106 % (MA)
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28. | India and Russia have cordial relationship. Explain.

Ans. :

— Non-Aligned movement of India

— Good relationship in the fields like Economy Politics Science etc.
— Opposed China’s invasion

— Supported Goa Liberation Movement

— Supported Tashkent Agreement

— 20 years Peace Pact was signed

— Supported to start steel plants at Bhilai and Bokaro

— Supporting to become permanent member of Security Council.

. . 1
( Any six points ) 6 x 5 3

29.| In recent days, the problem of untouchability is declining. Justify.

Ans. :

— Article 17 prohibits untouchability

— Untouchability Offences Act is implemented

— Protection of Civil Rights Act

— Universal right to vote and participate in election

— Reservation in the field of Education and employment
— Specific responsibilities for state Government

— Article 15, 16, 17, 38 and 46

— Reservation in politics

— Article 25 Right to enter public temple.

N~
w

( Any six points ) 6 x

RR (A)-1106 % (MA)




11 85-E
l?(:ls.. Value Points Total
30.| The areas under forest are declining in recent years. Why ?
Ans. :
— The expansion of agricultural land
— Construction of roads and railways
— Irrigation projects
— Industrialization
— Urbanization
— Over grazing
— Forest fire
— Insects and diseases
— Illegal cutting of trees
— Unscientific cutting of trees. ( Any six points ) 6 x % 3
31.| Majority of Iron and Steel Industries are located in Odisha and West
Bengal regions. Why ?
OR
Human activities caused floods and landslides. Justify.
Ans. :
— Supply of iron ore
— Supply of cooking coal
— Supply of hydel power
— Rail transport
— Port facilities
— Plenty of water supply
— Cheap labour
— Capital and local market. ( Any six points ) 6 x % 3
OR
RR (A)-1106 % (MA) [ Turn over
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32.

Floods :

Deforestation

Faulty irrigation

Faulty agricultural practice
Breaching of barrages

Rapid urbanization.

Landslides :

Deforestation

Construction of roads and railways
Construction of dams and hydel projects
Mixing and quarrying.

( Any three points from each )

Mention the key features of Panchayati Raj system.

OR

Mention the different stages of evolution of money.

Ans. :

A three-tier structure of Panchayat System
Direct and periodic elections

Reservation of seats

Provision of financial and administrative responsibilities, budget

and audit
Provision for executive / support staff

A strict procedure for dissolution of Panchayat

OR

RR (A)-1106 % (MA)
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33.

How does Globalization help in the development of a country ?

How does an Entrepreneur help in economic development of a

Barter system
Commodity money
Metallic money
Paper money
Bank money

Plastic money.

OR

country ?

Ans. :

Promotes economic growth

Increases the standard of living
Availability of the similar types of products
Increases of GDP of a country

Increases the income of the people
Provides wider choice of goods and services
Keeps production costs down

Promotes specialization

Build improved political and social links.

( Any six points )

OR

RR (A)-1106 % (MA)
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— Promotes capital formation

— Provides large scale employment

— Increases GDP

— Increases per capita income

— Brings new products and services

— Enables to avail better quality goods at lower prices
— Promotes development of industries

— Reduces concentration of wealth

— Promotes export trade

N~
w

— Changing technology. ( Any six points ) 6 x

V. Answer the following question in about eight sentences each :
4x4=16
34. | Explain the main programmes of Non-Co-operation Movement.

Ans. :

— Boycotting schools, colleges and courts
— Boycotting elections

— Returning all the honours and medals
— Resigning to local bodies membership
— Boycotting all the Government functions
— Boycotting all foreign goods

— Encouraging Handlooms and Khadi

— Opening National Schools

— Achieving unity among Hindus and Muslims
— Eradicating untouchability

— Women empowerment

— Encouraging production of Khadi.

( Any eight points ) 8 x

N~
N
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35.

Explain Political and Administrative reasons for 1857 revolt.

OR

Explain the age of Liberal Nationalism during Freedom movement.

Ans. :

Potilical Reasons :

Doctrine of Lapse was implemented

many Indian kings had to lose their kingdoms

Satara, Jhansi, Jaipur came under British

British abolished the kingships of Nawabs

They dethroned Mughal emperor and many other kings

Many soldier became unemployed

Administrative Reasons :

New Civil and Criminal Laws were introduced
There were lot of partiality

English became court language

Judgement was given in favour of the English

People did not like the new laws.

( Any eight points )

OR

Faith in rule of British and Judiciary

Prayers and request with in legal frame work
Political awareness among the people

Public meetings discussions on various issues

Submission of memorandums

RR (A)-1106 % (MA)
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— Development of industries

— Cutting down of military expenditure

— Providing better education

— Implementation of poverty alleviation programmes
— Study the ill effects of the British rule in India

— Explained drain of resources into England through Scientific

statistics
— Dadabhai Navoroji explained ‘Drain Theory’

— W. C. Banerjee, M.G. Ranade, Surendranath Banerjee, Dadabhai

Navoroji, Gopala Krishna Gokhale were important leaders

1

( Any eight points ) 8x 5 \

36. | In recent days, situations are supporting women to achieve betterment.

How ?

Ans. :

— Women and Child Development Department

— Improved status, better health, education

— Curbs child marriage

— Dowry Prohibition Act

— Compulsory education

— Stree Shakti, Women self help groups

— Establishment of Women’s Commission

— Attempts are made to provide reservation in Legislature bodies
— Reservation in Local bodies

— Reservation in Government recruitment.

N~
N

( Any eight points ) 8 x

RR (A)-1106 % (MA)
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37.| What are the requirements essential to cultivate wheat and
sugarcane ?
Ans. :
Wheat Sugarcane
— Temperate region — Irrigation is essential
— 10° to 15°C temperature — 21° to 26°C temperature
— 50 to 70 cm annual rainfall — 100 to 150 cm annual rainfall
— Heavy loamy and black soils — Alluvial and loamy soils
— Northern plains are best | — South India is best suitable
suitable
( Any four points from each ) 4
VI. 38. | Draw an outline map of India and mark the following :
a) 82%0 East Longitude
b) River Narmada
c) Bhakra Nangal Project
d) Mumbai High.
Ans. :
1+4=5
RR (A)-1106 % (MA) [ Turn over
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c) Bhakra Nangal
Project

— — — —  —

!

b) River Narmada '

*x

d) Mumbai High"

a)

1
825

° East Longitude
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Alternative Question for Blind Candidates only : (In lieu of

Q. No. 38)
How are the multipurpose river valley projects useful ? 5

Ans. :

—  Water for irrigation

—  Controls the floods

— Generate hydro-electricity
—  Prevent soil erosion

—  Develop inland waterways
— Develop fishing

— Recreation facilities

— Domestic purposes

— Reclaim land for agriculture

—  Afforestation. 5

RR (A)-1106 % (MA)




